Red

Step 1: Write down the times table facts until you reach the number in the division

question.

Step 2: Write down the fact family.

Step 3: Find the answer to our division question.

—

18+ 3=
15+ 5=
20+4 =
44+ 4=
40+5=
16 +4 =
36+ 6=
32+4=
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F 11-22 33-44-55 66 ?7-33 99-110-1215132
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Step 1: Write down the times table facts until you reach the number in the division

question.

Step 2: Write down the fact family.
Step 3: Find the answer to our division question.

1) 54+6=
2) 28+7=
) 77+11=
) 64+8=
) 24+8=
) 49+7 =
) 63+9=
) 96+8=

1) 63+9=
2) 96 +8 =

3) 81+9=
4) 56+7 =
5) 72+9=
6) 32+8=
7) 54+9=
8) 72+12=



